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PART-A/ A

Directions (Questions 1-20): There are 20 Multiple Choice Questions (MCQs), and each question
carries 1 mark. All questions are compulsory.

e (srar 1-20): 3 20 515 Ifeae o7 (MCQs) 7, 3T T W47 1 37 1 7 9+t ey srfamd )

1.

Which is the oldest form of composition of Hindustani vocal music?

(1) Tappa (2) Dhrupad (3) Thumri (4) Khayal
fergEaTet TR Wt ohl ToT T Tee T 9 Shi-|7 7

(1) Zwr (2) gu (3) gt 4) =
The Maori are the indigenous people of which nation?

(1) Indonesia (2) Ghana (3) Columbia (4) New Zealand
TS forr w7 o e et 87

(1) sSHRmET (2) T (3) wiafeam (4) FsTrs
World's oldest cave painting was recently found in which country?

(1) India (2) China (3) Indonesia (4) Japan
i sht Frer qUt T e wret & H ferer < o fivedt €7

(1) wa (2) = (3) M (4) STa
'‘And the Show Goes On' was a documentary made by the BBC on which Indian filmmaker?
(1) Mrinal Sen (2) Raj Kapoor (3) Satyajit Ray (4) Dev Anand
TS 3 2 TS A forer Wil ot Tt ox sfteftelt gy oS 78 UeF S off?

(1) goret 8 (2) TS (3) Tersiia X (4) T 3T
The phenomenon that enables us to perceive motion is known as

(1) Entopic phenomenon. (2) Persistence of vision.

(3) Newton's first law. (4) Galileo's law of motion.

& AT S H T BT 1Y U § T ST 7, ATt &

(1) T ¥ | (2) gy i faeaar |

(3) I =TT [+ | (4) Trefiferan i o fem |

Dogri is primarily spoken in which State/UT of India?

(1) Punjab (2) Meghalaya

(3) Gujarat (4) Jammu & Kashmir
SIT 7 & § WA o Toh8 To21/oh5 T Ya2T H aelt St 87

(1) 95 (2) FETE

(3) TR (4) ST 3 TR

Leshalaptu is a folk dance of which Indian State?

(1) Nagaland (2) Kerala (3) Karnataka (4) Goa
AT foher R T2 T AT &7

(1) ATete (2) T (3) FATeH (4) Tmar
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10.

11.

12.

13.

14.

What is the full form of AR which is fast becoming popular in the entertainment industry?

(1) Actual Reality (2) Arterial Realism

(3) Artificial Realism (4) Augmented Reality

T TR T 0T &G FT 2 S AT ST H St 8 AR &1 @187

(1) e featerdy (2) smetae farfasa

(3) anteihieEe fafrsy (4) smmHee forfeadt

Which of the following States has the longest coastline?

(1) Andhra Pradesh (2) Kerala (3) Maharashtra (4) Tamil Nadu
Fraferfaa & 9 forg Toa it qer@T ge@ et 27

(1) stigrwamr (2) 3) R @) afrerrg
Which of the following is used in writing pencil?

(1) Graphite (2) Silicon (3) Mica (4) Phosphorus
fora areft dfer # frmferfaa ® € ferarshr s foram stmar 87

(1) Tz (2) fafetents (3) v (4) wrEwRTE

Which was the most visited centrally-protected ticketed monument by foreign visitors, as per the
Indian Tourism statistics 20227

(1) Taj Mahal (2) Red Fort

(3) Group of monuments at Mamallapuram (4) Qutab Minar

TR e AiRerehl 2022 % SATHN, foreslt STiqent SRT @e® 31eres TR fohaT ST aTelT shs |Xerd feehe arer

TR i 97 AT?

(1) aTHES (2) et fera
(3) ATHCEAIH H TR 1 T (4) el HHAR

NESTS is an autonomous institution working under which Union Ministry?

(1) Ministry of Education (2) Ministry of Tribal Affairs
(3) Ministry of Culture (4) Ministry of External Affairs
NESTS ferer Shsiier HafTeter o STeaie ohrd ot SITetl Ueh ST HeT 27

(1) Terer damer (2) SIS AT T HATET

(3) SR HAAT (4) T dame™

The Indian Space Research Organization has collaborated with which country to explore the Venus
and the dark side of the moon?

(1) USA (2) Japan (3) Australia (4) Russia

R STATET STTEI TS I[ph ST = 5T o 3T T& T IaqT T o6 ToAT, fofer <=1 o |rer JaT fopart 27
(1) 7T (2) ST (3) sfegferam 4) &=

Who among the following prefers to appear on screen in his own directorial work.

(1) Alfred Hitchcock (2) Fransis Ford Coppola

(3) Akira Kurosawa (4) Majid Majidi

Freaffaa o g i ar e R | St 1ot fhert o Sh! Uk gieteh fe@s et =/ |
(1) TS femerie () FRmwEwter  (3) T e (4) wsfig st
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15.  Which of the following statements is not correct.
(1) The President of India is the head of government
(2) Writ Petitions can be field at the Supreme Court and High Court
(3) Access to drinking water is part of right to life
(4) International Peace is an aim mentioned in the constitution of India

frefafad wemt o & & ar w7 *7?

(1) VT o T TehT o AT |

(2) T ot Hatea =mTer 37t 3= =T | gt shi 51T Heha & |
(3) I BT U Sfiae o SR T aT R |

(4) Tt Frifa et d@iaem § Stfaa twr e 7 |

16. What is the meaning of the word 'Moonlighting'?
(1) Lighting technique used by cinematographers.
(2) Doing additional second job.
(3) Driving at night.
(4) Enjoying the moonlight.
AT 3168 o 37 T 77
(1) TEEEITHR ST ST ot ST et oATgieT Sohieh |
(2) AR THU HTH AT |
(3) T T TS <A™ T |
(4) ST T TS ST |

17. The Article 51A(h) in Indian Constitution is about
(1) to develop the scientific temper, humanism and the spirit of inquiry and reform.
(2) freedom to practice and propagation of religion subject to public order, morality and health.
(3) federalism as part of the basic structure.
(4) official language of the country.
TR e H =88 51T(TE) FaNH 7
(1) AR T, WarTaTE ST ST S AT ot ATaT fenid o |
(2) HEISTIeh ST, AfcahaT ST ETE o SFeaiia g ol STTELT ST = L oht T |

(3) Herae et Bie o e 2 |
(4) T T [T |
18. FIH Men's World Cup 2023 Hockey Final was played between which countries?
(1) Australia vs New Zealand (2) Germany vs Belgium
(3) Argentina vs Netherlands (4) Spain vs South Africa
FIH Men's World Cup 2023 &feht ®Tset foh <1l o sft=r @t 7/r?
(1) Ao 3 =hcie & s (2) st S sfesE & &=
(3) TSI 3T el &+ ot (4) TUT 3T F&I0T STShIeRT o Siter
19. Which of the following is Motto of Paralympic?
(1) To touch the sky with glory (2) To free the oppressed
(3) Spirit in motion (4) Service before self

Freferfaa & & i a7 tufifues o smest o 27
(1) TTIWE TR @R (2) T T STEs (3) Titfie g7 mee (4) afda & wR AT

20. Which is the happiest country in the world according to the World Happiness Report 20227

(1) Switzerland (2) New Zealand (3) Finland (4) Netherlands
TS B RIS 2022 o STTHI ST T Hefel GRETA G2 i AT 7
(1) Raestete (2) =ircte (3) fcte (4) Hfrewcte
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PART-B/ B

Directions (Questions 21-35): These questions are Subject Specific. There are 15 Multiple Select
Questions (MSQs), and each question carries 2 marks. Each question has four answer options and
question may have one or more than one correct answer options. All questions are compulsory.

fAor (sror 21-35): 2 wan, fererer farfare &1 goe 15 g Senfoes == o7 (MSQS) 2, 37 wedier W, 2 3ieF o7 81 Tedh 95 &
TR I Torshed & ST T o Ueh AT Ueh © ATeeh, T I [aohed &1 Tohd 2| T3t 77 e 2

21.

22,

23.

24,

25.

Reverberation of sound is

(1) caused by multiple reflections. (2) only created by software.
(3) dependent on the size of the room. (4) due to non absorbing walls.
et oA FaeE

(1) w & st yRfa & gy | (2) et SRS SR ST ST R |
(3) L PR W et Bt 7 | (4) starsmt fiferrt & FROTRIATR |

A microphone

(1) converts acoustic energy to electric energy.

(2) captures whatever sounds come to it.

(3) is a transducer.

(4) needs to be appropriately placed for the required tone.

QEB

(1) eafier it ot forega <stt # UiETdd sFar = |

(2) o i oft STTaTS T R I TR AATR |

(3) v gteeTER R |

(4) srrarwren T o fore 3fera wor w ST =R |

A person's speech

(1) will always be in the same pitch. (2) will always be in a specific frequency.
(3) can vary in pitch due to emotion. (4) can vary in rhythm.

ek ek St WT9OT

(1) =i e & e | (2) =i fafere seee & 1 |

(3) wrrerT o ehroT furr H T B weRdt ® | (4) T fa=r ST EeRaT R |

Sound travels

(1) faster in a dense medium. (2) slower in a dense medium.

(3) faster in vacuum. (4) only in a medium.

oI AT AT R -

(1) T AT § o | (2) wa= wreaw i |

(3) dgitaeT (4) e mreAm |

Which of the following property(ies) a sound wave can undergo?

(1) Reflection (2) Diffusion (3) Refraction (4) Diffraction
A i et i  fomer o & T w27

(1) feweiaes (2) Tewma (3) Tk (4) ferpiamm
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26.

27,

28.

29.

30.

Dolby

(1) used to be a noise reduction system in magnetic tapes.
(2) is essential for sound recording.

(3) is a technology used to create loud sound.

(4) develops various sound formats for cinema exhibition.
Sl

(1) <ferhlar 0 # 5@ H L STt JUTTeAT G317 et o |

(2) et frifem & faw e 2 |

(3) St et traT ohY 3 T TR oY ST ATt eI B |

(4) Fermm sreetHft 35 fore, frfir earf e ferp e e 2|

When two violinist play the same scale simultaneously,

(1) itis equivalent to doubling the sound of one of the violins.
(2) it can only create chaos.

(3) it can create richer sounds due to two musicians involved.
(4) each violin adds its timbre.

e S AR aTeeh Teh &) JAT U Ueh |7 &IS(1d &,

(1) =% we amafer st ol ot IAT e o SR < |

(2) == Tt T X HL THRATR |

(3) =re a1 ficrenTX o SMTTHeT B o ShR0T 9 ol IaT S TRAT R |
(4)

4) sk At ST TF SSaT R |

While listening to something critically, we tend to close our eyes because
(1) this is to concentrate on the sound.

(2) this is a habit without any significance.

(3) this is to avoid possible distraction due to seeing.

(4) itimproves listening and not hearing.

ToReft aITq T ST ® | G T &7 ST ST §1€ L I & 1R

(1) =& @ft o o= SHiga TR |

(2) =z fom fereft e ot STRa 7 |

(3) = Rt 3 oo s feremor & a3 R R |

(4) =& g | T, I A YA H HEE HAT & |

Factor(s) that influence(s) the speed of sound wave is/are

(1) density of the medium. (2) amplitude of the sound wave.
(3) intensity of the sound wave. (4) humidity of the medium.

et T ST T Rl TTer R ATeT ek B8

(1) wrem w1 e (2) et Tl r ST

(3) earfer aiar <ht cfterar (4) wreanT <t ST

Sound waves can travel through

(1) solid. (2) liquid. (3) gases. (4) vaccum.
€T T fohereh ATETH & T T HohelT &

(1) == (2) == (3) == (4) S
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31. A man hears a gunshot after seeing the fire from a gun. This is due to the reason that

(1) sound travels faster than light. (2) light travels faster than sound.
(3) eyes are more sensitive than ears. (4) None of these

e STICH! -G § TRt §5 ST 31 S o SIS ekl ST %l GdT 7, I8 56 0T H BT« -
(1) eafr e & asr gerdi 2 | (2) weprer ey & Aot T R |

(3) i e e AR TR AR R (4) T

32. 'Mexican wave' in a stadium is also known as

(1) Transverse Wave. (2) Longitudinal Wave.
(3) Electro Magnetic Wave. (4) Stadium Wave.
wieam o ‘BfreT 99’ I 30 T H ft ST ST R -

(1) gioeedam | (2) wrisfezser 3 |

(3) o I AT | (4) Sfemmas

33. Compared to sound in a cinema multiplex, sound of a home theatre system
(1) will be better than multiplex, because there is no public to disturb.
(2) will be better than a laptop or a phone, but not as good as a multiplex.
(3) will not be better than multiplex sound, but would still be good enough.
(4) will not be better than a laptop or phone, but still quite loud.
T wed oo # eafy ot g |, B faue foen 6 afy
(1) wedieciee & seat &1, FifeR aRT BRI o o foT ahis dfecteh 6 7 |
(2) Saeta 3T B & SEaL BN, ok Aeeivarad ST STt Tt 8t |
(3) weRwieE WS | BT T BN, IR (B T FIhT STt B |
(4) Bt o T & ST T AR, AT R of rfr ares dnft

34. The relationship between frequency and wavelength of a sound wave is

(1) inversely proportional. (2) directly proportional.

(3) equal. (4) Can't be commented

HISUS AT 6T SHIRTHT ST Jacieor o e g & -

(1) sTateft sareme | (2) St T |

(3) s (4) feoroft i o < el
35. Resistance of a conductor depends on

(1) length of the conductor. (2) colour of the conductor.

(3) area of cross-section of the conductor. (4) All these

Tereft <TereR w1 i freft aReaT 2 -

(1) =it dem (2) w4

(3) ST & SHI-TT T &TH| (4) Feeft
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10.

11.

12.
13.

Partial Marks: +1.5 If all the four options are correct but ONLY three options are chosen;

Partial Marks: +1 If three or more options are correct but ONLY two options are chosen, both of which are correct;
Partial Marks: +0.5 If two or more options are correct but ONLY one option is chosen and it is a correct option;

Zero Marks: 0 if none of the option is chosen (i.e., the question is unanswered).

Negative Marks: —0.25 In all other cases.

In case of ambiguity in translation, English version will be deemed authentic. Rough work to be done on Question
Booklet.

Obijective type Answers are to be marked on the OMR Answer-Sheet, which is provided separately.

Use only Blue/Black Ball Point Pen to darken the oval(s) for answering.

. Once oval(s) is/are darkened as answer to the question, it is final. Answer option(s) once darkened cannot be changed.
. Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this Question

Booklet or part of it outside the examination hall.

. The right to exclude any question(s) from final evaluation rests with the testing authority.
. Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

T I B IR T IRAET o et 1T STTAST I IT STTaeeh STHehit W]

U | 6t AT 60 Te 71 e qRaRT @ 3 L STE SHen! quidT shi St o

YUT-| (W, ST AT 7 35 TS T ¥ E

WAT-T ® 20 T 1 T3 T & 91 faohved (1), (2), (3) 3T (4) B 37 91 forepedt § 9 Shalel Tk & 961 ST 2| TAF
W o ToT Hel I o SITE foshed ol =12 i

T S o 3L ol Ao (ITTRaT Sfehe AT o STTAR feha S

qut 37 +1 I et Tt forehed AT TR,

T 37k 0 Fle g W ferencd &t 7 7T B (319d, T IR ®);

TR 3{eh: -0.25 =7 Teft oyt ||

TET-at § 15 T2 Bl T T & 91 faamed (1), (2), (3) 3 (4) B 37 =R frohedl & 6 Tk 7 Uk © 377eh T8 S
1 et 3 3 forw, (@it Tt S (STt @ Feiftra forereg (et w1 <

FtcTRaa 3ferT FISHT o STHTC T T4 o TR T Hed o (Rl SITT:

qut 37k +2 TS Faet (@) vt foreped (frereah) st T mIT R (),

TR feh: +1.5 Ffa I fered w2 & QAfor shae i forshed < MU &,

TR tep: +1 afe i 1 sferes faere w2t & Tifor share <1 faerer 91 0 &, 511 T ot &

AT 3 +0.5 IS T AT A1 & 37Tk [ered Tt 2 QHfoh sharet Tep forhed =T 71T © 37 I8 Ue aal fohed @

[ ek ( TS opig Wit forshed 8T <A1 TIT © (3791, W ST 2)

TR 3Heh: -0.25 =7 Teft oyt ||

HTATE H STEATAT o6 AT H, SIS HEHLOT T NTHITUTER HIHT ST 52 GRshT 9% T e T 2

TGS TR 3 I TSR -9 X 3o Tory T &, ST 37T & Sqered s Te &

I T oI ST (3T Rl 1T ot o FoT T et ft/apTe sitet UTSe U ohT SUFNT i

T % ST &k €I H U IR ISR (37F) TRl Hretm o feam Simar 2, ar a7 sifom 21 S fashew (foreat) ot o o
SHIAT L o ST TSAT Tal ST HehalT|

39 7 QR AT 36k foRet T et oteT Bfer 3 STET o ST AT o ST SR TRATH A ATl IFHIGER o foeg 3T
fafarer/smafeess wrfaTe i s

ToRwiT +ft war(<TT) =T ST Fearione & STeT ot ST ST HieT TTTUhTt o oTH &

-G TRt o ot it g o Heer o wite dieter W TOSTeRtoT o HiFT| 379 FaTaw fHur ST SR R

This Question Booklet is to be returned on completion of the test. /
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